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AT SE HE A e H T RRAE JE T PR
[1] ¥APCB 29,000 X3 %7
[1-1]%/ 7 oo 7 == ¥ 63 0.1 0.4
[12] P77 == 1,100 0.4 1.0
[13] PV Zoove 7 == 5,000 0.2 0.6
[1-4]F FF27unbE 7 ==L 7,400 0.2 0.4
[1-4-11 275 F—PCBD 9 5 3344-T FF 77 ==L #7) 150 0.2 0.4
[1-42] 27 FF—PCBD H H 34457 7 7mn b7 =) (481) 11 0.2 0.4
[1-5] Ry & /a7 ==LH 7,700 0.2 0.5
[1-5-11 27 FF—PCBD 9 $ 233 44X Z/an bt 7=, (#105) 500 0.2 0.5
[1-52] 2775 —PCBD 9 5 2,344,524 7nub 7 =)L (#114) 33 0.2 0.5
[1-5-3] 27 FF—PCBD 9 5 23 445X Z/anb 7 =)L (#118) 1,300 0.2 0.5
[1-5-4] 27T F—PCBD 9 5 23445~ 7 =)L (#123) 30 0.2 0.5
[1-5-5] 27 FF—PCBD 9 $ 33 445X Z/ant 7 =)L (#126) 26 0.2 0.5
[1-6] ~FH 7o ==)L4 6,100 0.3 0.8
[1-6-11 27 FF—PCBD 9 5 2,33 44,5-~F /oot~ =/ (#156) 190 0.3 0.8
[1-6-2] 2775 —PCBD 9 5 233 44.,5-~FH 7o 7 =)L (#157) 52 0.3 0.8
[1-6-3] 27T 5 —PCBD 9 5 2,344 5,5-~F 77 =)L (#167) 84 0.3 0.8
[1-6-4] 27T 5 —PCBD 9 5 3,344 55-~FH 7o 7 =)L (#169) 2.1 0.3 0.8
[1-7]~F %27 an 7 =/ 1,400 0.3 0.7
[1-7-11 2775 —PCBD 9 5 2,2'33' 44,5-~7 4 /au b7 x=, (#170) 210 0.3 0.7
[1-7-2] 27T F—PCBD 9 5 2,2'344,55-~F 4 7aut~ =) (#180) 370 0.3 0.7
[1-7-31 2775 —PCBD 9 5 233 44,55-~7 4 /7oub 7 =-=/ (#189) 12 0.3 0.7
[1-8] A7 # 7 un b7 = =/L 200 0.2 0.6
[1:9] /F 27 mrE7 ==L} 33 0.4 1.1
[1-10] FH 7 nm 7 ==L 22 0.4 1.1
[2]HCB (~FHroaX EY) 88 0.3 0.8
[11-1] «-HCH 270 0.3 0.9
[11-2] f-HCH 1,500 0.6 1.6
[11-3]y-HCH  (Bl%4 : Vo7 V) 72 0.5 1.3
[11-4] §-HCH 97 0.3 0.7
[14]R) T uEVT7x=Lo—F NV (REHRANHI0ETOEHD) 55,000 %22 %59
[14-1] 7 h T 7 0EVT == )Lx—7 VI 1,800 0.9 2.4
[14-1-1122'44-F T 7 REY T = =)LT=—F )L (#47) 1,400 0.9 2.4
[142] R AT REY T = = )b =—F )LJH 420 1 4
[14-2-1]12,2 44520 # T 0EY T = =)L T—7 /L (#99) 280 1 4
[143] ~"FHTHEY T = =)L —F )L 240 1 3
[14-3-112,2'4,4 5,5-~F VT 0 EY 7 = =/L=—F /L (#153) 180 1 3
[14-3-2]22'44 5,6-~F V70 E 7 = =)L=—F /)L (#154) 56 1 3
[14-4] ~"T X T eEY T 2= )L—F LI 68 3 8
[14-4-1122'3,3'4,5.6-~F 27 0ET 7 ==L —F )L (#175) K O[14-4-2]2,2'3,4,4.56- 68 3 8
ANTHETOET T 2= VT —F )L (#183) OLEHE
(1451 A2 270 EY T == )b =—F )L 480 3 7
[14-6] /7T aEY T =)L —TF )LIH 5,400 5 14
147 T HT0EY T 2= )b T—F )b 47,000 8 21
[15] V7 NA a7 & AR iE (PFOS) 100 4 9
[16] V7 A a7 %k (PFOA) 47 3 7
N7y 7vpaXr€y 68 0.2 0.6
[19]1,2,5,6,9,10-~F %7 a7 K7 h M 7,800 %240 %570
[19-1]@-1,2,5,69,10-~F YT o€ 7 a K7 H 1,500 70 160
[19-2] -1,2,5,6,9,10-~F T aEv s a KT 250 40 100
[19-3]y-1,2,5,6,9,10-~F ¥ T aE 7 a K7 v 6,100 30 70
[19-4]5-1,2,5,69,10-~F %7 nEL 71 KT nd 50 110
[19-5]£-1,2,5,6,9,10-~F YT aE 7/ a K7 v nd 50 130
RUA~FY 7T H-13-VT nd 10 30
[23] SEEHIEEL N T 7 ¢ 56,000 %570 % 1,400
[23-1] HiF b7 7 4,700 70 210
[232] aFEAb D T 9,700 100 300
[23-3] ik K7 ¥ 14,000 200 400
[23-4] iFEAL b U T 0 28,000 200 500
[25] V7 VA a~F Y o ALK R (PFHXS) nd 3 6
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